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= PyROOT issues solved (.. partially)
» Conformed a huge gap between fast/full simulations
» Backscattering from the dumps needs to be shielded

= Top candidate particle (by number): e-, gamma, ve, et, neutron
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Spectrum: electron

histEe1

Entries 353023
Mean 0.001427
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Spectrum: positron

histEee1

Entries 41035
Mean 0.002653
Std Dev  0.006279
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Spectrum: neutron

histEnO
— Entries 6474
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Vertices: neutron

vixx:vtxz {detid==2000&&pdg==2112}

histvni

Mean x
Mean vy

Std Dev x
Std Dev y

Entries 1.424709e+07
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Nothing in fast sim.



Spectrum: photon

histEg

; Entries  1.248088e+07
£ Mean 0.001856
il Std Dev 0.002646
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Vertices: photon

vixx:vtxz {detid==2000&&pdg==22} vixx:vtxz {detid==2000&&pdg==22}
histvg histvg0
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